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PHILOSOPHY
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.

According to Heracliths becoming is :
(A) real (B) unreal

(C) real and unreal (D) neither real nor unreal

According to Plato, the soul has following three parts :
(A) reason, spirit and appetite (B) truth, morality and values

(C) matter, form and spirit (D) potentiality, actuality and reality

According to Aristotle, the predicables are :

(A) genus, differentia and accident

(B) differentia, accident, genus and property

(C) genus and property

(D) genus, species, differentia, property and accident

The Principle of Harmony is fundamental in the philosophy of :
(A) Spinoza (B) Descartes

(C) Leibnitz (D) Aristotle

According to Descartes, deduction differs from intuition since :

(A) intuition is unreliable, while deduction is reliable

(B) intuition is sensory, while deduction is not so
(C) intuition does not field any new truth while deduction does
(D) a certain movement on succession belongs to deduction and not to intuition

Which one of the following is the correct definition of secondary qualities, according to
Locke ?

(A) Secondary qualities are those whose ideas are not exact resemblances of qualities
themselves.

(B) Secondary qualities are those which are imposed on the external objects by human
mind

(C) Secondary qualities are nothing in the objects themselves but powers to produce
sensations in us by their primary qualities.

(D) Secondary qualities are the powers to produce objects in external world.
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10.

11.

12.

According to Kant, the original question of metaphysics is :
(A) How is the existence of God is possible ?

(B) How is noumenal reality related to phenomenal reality ?
(C) How is synthetic a priori judgement possible ?
(D)

How is talk about freedom and immortality meaningful ?

According to Russell, physical objects are :
(A) idea (B) bogus entities

(C) logical construction (D) illusions

Which one of the following statements is not true of Wittgenstein’s Tractates Logic
Philosophies ?

(A) The structure of language is isomorphic with the structure of reality

(B) Names are the ultimate constituents of language
(C) Objects are ultimate constituents of reality
(D) The structure of an object corresponds to the structure of a name

Heidegger’s Dasein is a :
(A) thinking being (B) material being
(C) spiritual being (D) worldly being

An intentional act of consciousness according to Husserl is :

(A) actively envisions the object

(B) passively apprehends the object
(C) actively constitutes the object
(D) passively discovers the object

Which of the following pairs of concepts is propounded by Ryle ?

(A) knowing by acquaintance and knowing by description

(B) knowing how and knowing that
(C) existence and essence
(D) performative utterances and constative utterances

J—0306 4
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13.

14.

15.

16.

17.

18.

19.

20.

The four parts of each veda are :

(A) the Brahmanas, Brahmasutras, Bhagavadgita and Upanishads

(B) the Brahmanas, Bhagavadgita, Aranyakas and Upanishads

(C) the Sarnhitas, the Brahmanas, the Aranyakas, and the Upanishads

(D) the Brahmanas, Aranyakas, Upanishads and Brahmasutras

Aprthak Siddhi, according to Ramanuja, is a relation between :

(A) Jiva and Brahman only (B) Jiva and Jagat only
(C) Jiva, Brahman and Jagat (D) Brahman and Jagat only

in Advaita Vedanta, the two powers of Avidya are called :

(A) Avarana and Maya (B)  Avarana and ahamkara

(C) Avarana and Viksepa (D) Avarana and avyakta

The view that liberated soul is devoid of knowledge and bliss is accepted by :
(A) Nyaya- Vaisesika (B) Advaita
(C) Sanikhya (D) Charvaka

‘A thing has infinite qualities” is propounded by :
(A) Jainism (B) Buddhism (C) Samkhya (D) Yoga

The Charvaka School maintains that reality :
(A) is unknowable (B) can be known through inference
(C) can be known through Sabda (D) is perceivable only

According to Radhakrishnan the phenomenal world is :
(A) static manifestation of the power of Brahman

(B) only manifestation of the power of Brahman

(C) dynamic manifestation of the power of Brahman

(D) illusory manifestation of the power of Brahman

Non - violence, according to Mahatma Gandhi is not :

(A) The law of the human species (B) The gospel of human action
(C) Goodwill towards all life (D) Passive resistance

J—0306 6
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21.

22.

23.

24.

25.

26.

27.

28.

Instructions :

The following items consist of two statements one labelled the Assertion (A) and the other
labelled the Reason (R). You are to examine these two statements carefully and decide if the
Assertion A and Reason R are individually true and if so whether the Reason is a correct
explanation of Assertion. Select your answers to these items using the codes given below and
mark your answer sheet accordingly.

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(
(C
(

Assertion (A)

Reason (R)

Assertion (A)
Reason (R)

Assertion (A)

Reason (R)

Assertion (A)
Reason (R)

Assertion (A)
Reason (R)

Assertion (A)
Reason (R)

Assertion (A)
Reason (R)

Assertion (A)

Reason (R)

J—0306

B) Both (A) and (R) are true but (R) is not a correct explanation of (A).
) (A) is true but (R) is false.
D) (A) is false but (R) is true.

Locke was compelled to say “substance is something I know
not what”.

Locke draws a distinction between intuitive, demonstrative and
sensitive knowledge.

In Gandhian ethics the golden rule of conduct is tolerance.
Conscience is not the same thing for all.

According to Sankara the individual selves are identical with
Brahman.

The Laksyartha of the statement Tattvamasi should be admitted
instead of its Sabdartha

Sarikara critised the Nyaya theory of Khyativada.

According to Sankara effect must exist in the cause before its
manifestation.

According to Moore Mill has committed a naturalistic fallacy.

Mill has defined a natural property, goodness in terms of another
natural property called pleasure.

According to Gandhi Satya is the end and ahimsa is the means.

Gandhi believes that end and means are interdependent.

According to Kant moral duty is the imperative of pure reason.
Kant believes that moral duty is given by one’s intuition.

According to Bradley, thought commits suicide while
apprehending Reality.

According to Bradley, thought and Reality are identical.
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29.

30.

31.

32.

33.

34.

35.

Assertion (A) Vivekananda upholds the ideal of Sarvadharma samanata.
Reason (R) : Vivekananda believes in the unity and equality of all religions.
Assertion (A) The study of moral philosophy is not worth undertaking.
Reason (R) : Moral philosophers have disagreements regarding the same

moral issues.

Assertion (A) ‘All human beings have a right to freedom’ is a moral judgement.
Reason (R) : It assets what ought to be

The correct sequence of triple transformation in evolutionary theory of Sri Aurobindo is:
(A) psychic transformation, spiritual transformation and supra mental transformation
(B) psychic transformation, supra mental transformation and spiritual transformation
(C) spiritual transformation, psychic transformation and supra mental transformation
(D) supra mental transformation, psychic transformation and spiritual transformation

According to Nyaya - vaiesika which one of the following represents the correct
sequence of the five members of syllogism ?

(A) hetu, udaharana, pratijna, upanaya, nigmana

B) pratijiia, udaharana, hetu, nigmana, upanaya

(
(C) pratijii, hetu, upanaya, udaharana, nigmana
(

D) pratijia, hetu, udaharana, upanaya, nigmana

The correct sequence of ASNga yoga of Patanjali is :

(A) Niyama, Asana, Yama, Pratyahara, Pranayama, Dharana, Dhyana, Samadhi
(B) Yama, Niyama, Asana, Pranayama, Pratyahara, Dharana, Dhyana, Samadhi
©

(D) Yama, Niyama, Asana, Pratyahara, Pranayama, Dharana, Dhyana, Samadhi

Asana, Niyama, Yama, Pranayama, Pratyahara, Dharana, Dhyana, Samadhi

The correct sequence of Buddha’s causal wheel of dependent origination is :

(A) trsna, upadana, bhava, jati, jara-marana, avidya, vedna, samskara, vijfiana,

namarupa, sadayatna, sparsa

(B) jara-marana, sparsa, avidya, vijiana, namarupa, vedna, sadayatna, samskara,

trsna, upadana, bhava, jati

Q) avidya, vijiilana, namartpa, vedna, sparsa, sadayatna, samskara, trsna,

upadana, bhava, jara-marana, jati

(D) avidya, samskara, vijiana, namartipa, sadayatna, sparsa, vedna, trsna

upadana, bhava, jati, jara-marana

J—0306 10



29. HUT (A) : TTowF< GduH THMEA % A B A €
HEOT (R) : Tororenm= Tuft el 6t Tamar T Tohar | fovard i ¥

30. WU (A) : Afceh A F TAIA e T
HEOT (R) : forelt oft Sfqer Toen & s & ifqere & qrifei & qa9e 8 1

31. I (A) : Gt T I T v AfUER ®' g U Afaw ol #
HIUT (R) : 98 &8 UL ®9 9 s ¢ T 7 2 =nfew |

32. =it sRfa % faeprmaml o & fafay S = 98 %9 2
(A) = FIWRE, SMEATTR TR TS SR S=I0
(B) I TUIRUI, HMHE IR TS A cHR =0l
(C) TeAIfcHeh SUIRY, I =R Ta SAHMES Sa=l
(D) SARTHMITE FIR, =& T T ST SR

33. = aiftren o STTER Frefeiad § 9§ s T =reere & e o 9el oA ol Yefiid i g ?
(A) &9, Se=w, gfas, 39, fme
(B) HfdN, 350, 74, FHEH, 3T
(C) i, ¥, 399, 3o, A
(D) i, &9, e, 39, frma

34. TGl o TN 1 T&l %hH |
(A) T7IM, A5, 99, TERR, YOMEH, RO, &, JHifY
(B) I, T7IH, A9, YIUMAM, YRR, YR, €M, THIY
(C) 3, 7, I, YU, YRR, ¥R, &M, THI
(D) 39, T99H, A9, YRR, GIUMEH, YR, €4, THIY

35. 95 % YAIEHME & fag & 9E T

A) TN, IURH, W, STfd, SRERU, AT, Je1, Hehr, fagm, e, serrd, wef
B) SR, Todl, stfemn, foa, ey, 981, e, HEhE, IO, SUSH, W, Sfd
C) faen, foam, ey, o, TE, TSR, YEhR, TN, SUICH, Hd, SRIERU, Sfd

~

(
(
(
(

S
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36. The correct sequence of four conditions of an intelligible sentence according to Nyaya
is :

(A) Akanksa, Yogyata, Sannidhi and Tatparya

(B) Yogyata, Sannidhi, Tatparya, and Akanksa

(C) Sannidhi, Yogyata, Tatparya, and Akanksa

(D) Sannidhi, Tatparya, Akanksa, and Yogyata

37. Match the List - I with List - II and choose the correct answer from the code given

below :

List - I List - II

(Thinkers) (Theory)
(a) Ramanuja (i)  Satkaryavada
(b) Nagarjun (i)  Viparitakhyativada
(c) Iswarakrishna (iii) Brahmaparinamavada
(d) Kumarila (iv) Sunyavada
Code :

@@ () (o (d)

(A) @ @) (@v) (i)
(B) (@) @v) @O ()
(© @ @) @ ()
(D) (@v) @) @) (i)
38. Match the List - I with List - II and choose the correct answer from the code given
below :
List - I List - II
(Thinkers) (Theory)
(a) Sankara (i) Parellism
(b) Spinoza (i) Divine - evolutionism
() Russell (i) Jivanmukti
(d) Sri Aurobindo (iv) Theory of definite description

@]
=)
o
o

@@ (b)) (o) (d)

(A @® G @G @)
(B) @) @ (v) ([
(© @) () @) @)
(D) Gv) (@) @) @)
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36. I T % STTER AL A1 ht =R VGt 1 Tl ohH §

37. -

38. =I-

STTRIeAT, ARad], WAty T aread
Jrrn, |, qead T STehie
[fAfY, e, dread T STrehiet
wfafy, qreod, stepien Td Jr

1 1 = - 11 § gafad v @i fFrafafad e 9 w& sw g :
-1 -1I
(fa=m) (fasT=)
REIGE (i) —WehMEdE
AT (i) fawdaefders
Eerea| (iti) STETIROMHET
FHIRA (iv) YEdER

@@ (b (o) (d)

@) @) (v) (i)

(i) (v) () (i)

(i) (D) @) (i)

Gv) () @) (i)

1 Tt - 11 9 gafaa sifse iR fFefafed fe 9 98 s® g

et - 1 -1I
(T ) (fagr=)
RETY () HHFRAG
Torersn (i) feea-foehrgeng
wd (iii)  Sfre=gfer
gt srfa< (iv) Tf=m oA fagr
@@ () () (d)
@) D) (D) (iv)
(i) (@) () (i)
() (i) @Gv) (@)
(iv) (i) (i) ()
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39. Match the List - I with List - II and choose the correct answer from the code given

below :
List - I List - II
(Thinkers) (Theory)
(a) William James (i) Number theory
(b) Kant (i) Dialectical method
(c) Hegel (iii) Critical transcendental idealism
(d) Pythagoras (iv) Pragmatism
Code
(@ (b) (o) (d)
@A) (O G @) )
B (v ) @ O
© @) (v O G
D) () O ) (i)

40. Match the List - I with List - II and choose the correct answer from the code given

below :
List - I List - II
(Authors) (Texts)
(@) Umaswati (i)  Yogasutras
(b) Patanjali (ii) Taraksamgrah
(c) Annambhatta (iii) Tattvarthasutra
(d) Keshav Mishra (iv) Tarakbhasa
Code :
(@ () (o (d)
(A) @) @@ @) ()
(B) @) @) @) ()
© @ () (v) (i)
(D) (@v) () G) ()
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39. EI-

40. -

13 Tt - 11 9 gafaa sifse iR fFefafad $e 9 98 s® g

T - 1 el - 11

( feremen ) (fagm=)

faferm s () 3k Tog

EaL (i) gars fafy

KIS (iii) TS STt fakmaR
EIERIIES (iv) SAM9BRITETS

@@ () (o9 (d)

1 1 = - 11 § gafea v @i fFrafafad e 9 w& sw g :

T - 1 e - 11
(TG ) ()
STt () A
TSt (i) THETE
SEHYE (iii) deEnedgA
ENCREE (iv) TRuTS
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41. Match the List - I with List - II and choose the correct answer from the code given

below :
List - 1 List - II
(Authors) (Texts)
(a)  Sri Aurobindo (i)  Being and Time
(b) Bradley (i) Mimamsa -Sutra
() Heidegger (iii) The Human Cycle
(d) Jaimini (iv) Essays on Truth and Reality
Code :
@ (b (@ (@
(A) (@) (v) @) (i)
(B) (@) (i) @O (v)
© © @) (i) (v)
(D) (@) @) @) (v)

42. Match the List - I with List - II and choose the correct answer from the code given

below :
List - I List - II
(Authors) (Texts)
(@) Augustine (i)  Tractates Logico Philosophies
(b) Hegel (i) Confessions
(c) Ludwig Wittgenstein (i) Phenomenology of Spirit
(d) Plato (iv) Theatatus
Code
@ () (o (d
(A) (@) @) @) (@)
B) (@) (v) (D) (i)
Q) @) @P) @ (@)
(D) (v) (D) () ()
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41. g=HI-

42. g -

13 Tt - 11 9 gafaa sifse iR fFefafad $e 9 98 s® g

T - 1 g - 11

(oE®h ) (T=er)

it srfar= (@) foE~T woe wEn

] (i) AR

BESTR (i) T T WEHA

Sifeet (iv) TS 3 7 TUe femed

1 1 = - 11 § gafea v @i fFrafafad e 9 w& sw g :

T - 1 et - 11

(T ) ()

ST (i) SFReY Witsrhl FReaithea
B (i) HHI

qefor faeimerEA (iii) TR Siie i
kC (iv) fereees

O @) @) (iv)
0 (@v) @) (i)
() (@) @) (iv)
(iv) (i) () (@)
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43. Match the List - I with List - II and choose the correct answer from the code given

below :
List - I List - II
(Schools) (Theory)
(a) Buddhism (i)  Svatah Pramanya Paratahapramanya
(b) Nyaya (i) Paratah Pramanya Paratahapramanya
(c) Mimamsa (ili) Svatah Pramanya Svatahapramanya
(d) Sankhya (iv) Paratah Pramanya Svatahapramanya
Code :
(@ (b) (o) (d)
(A) (@) (D) (v) (i)
(B) Gv) (@) @) ()
© Gv) @ @) ()
(D) G) (v) (@) (D)
44. Match the List - I with List - II and choose the correct answer from the code given
below :
List - I List - II
(System/Text) (Types of Karma)
(a) Advaita (i)  Sanehita - Karma, Prarabdha Karma and
agami - karma
(b) Gita (i) Nitya - Karma, naimittika - karma and kamyakarma
(c) Jainism (i) Karma, Akarma and Vikarma
(d) Mimanisa (iv) ]néyévarar}i-ya_— Karma, Jney avaraniya - Karma and
darSanavaraniya - Karma
Code :
@@ () (o) (d)
A O G (v G
B () (v @) 0
© () O v (i)
D) @) () O @)
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43. =HI-

44. g -

13 Tt - 11 9 gafaa sifse iR fFefafad $e 9 98 s® g

T - 1 e - 11

(HYeT ) (Tagr=)

Alg-3¥A () @ Y, T g
= (i) O YTHIOH, URE: ST
T (iti) EoId: UTHITE, T AGH0H
Hem (iv) d: YO, T STHH0T

1 1 = - 11 § gafea v @i fFrafafad e 9 w& sw g :

T - 1 g - 11

(d/T°) (1 & UhW)

5 () dfea %, yRe &Y IR e %y

Tt i) T o, Afafas w1 iR = *d

EECNE] (iii) o, 31RH TR faspm

Hrre (iv) SRS o, JAENT FH SR AT w6
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45.

46.

Match the List - I with List - II and select the correct answer by using the code given
below the lists :

List - I List - II
(Authors) (Works)
(a) Vatsayana (i)  Artha Shastra
(b) Kautilya (i) Artha Sangraha
() Kumarila Ghatta (iii) Kamasutra
(d) Laugakshi - Bhaskara (iv) Slokavartika

(A) @) @) @ G
B) Gv) @ (D) (i)
(© @) @ (@) @)
(D) @) () @v) (i)

Read the following passage and answer question no. 46 to 50 :

Neither the virtues, nor the vices are feelings, for we are not called worthy or
worthless on account of our feelings, but on account of our virtues and vices. Moreover,
we are not praised or blamed on account of our feelings. For a person is not praised for
being frightened or angry; it is not simply for being angry that someone is blamed, but
for being angry in a particular way. But we are praised or blamed on account of our
virtues and vices. Then again, we feel angry or frightened without choosing to, whereas
virtues are choices of some kind, or involve choice. In addition we are said to be moved
with respect to our feelings, but in the case of the virtues and vices it is not a matter of
being moved but of being in a certain condition. By the same token, the virtues are not
capacities either. For, we are not said to be good or bad, or praised or blamed, simply
in virtue of being capable of feeling. And again, we have capacities by nature, but we
are not good or bad by nature, as noted above. So if the virtues are neither feelings nor
capacities, it remains that they are dispositions. This then is our account of the kind of

thing virtue is.

Moral judgement is based on our being :

(A) happy (B) angry
(C©) happy is a particular way (D) angry is a particular way
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45. - 1 G - 11 9 gAfea sifse R fFefatad fe 9 98 sw g

et - 1 et - 11
(afer) ( IrefoTre )
(a) SITHREHA (i) AT
(b) hifecH (i) TIEUR
(c) FHHIRA g (iti) T
(d) TFmER- R R GIEEISED
%
@@ () (o) (d)
(A) @) @ @ (i)
(B) (@(v) (@) (D) (i)
(© (@) (@) (Gv) (i)
D) @ @) (v) (i)

[REATCTad TensT @i Ugeht 997 &7 46 @ 50 & IV GIeTd:

T @ T R e G0 e & iR THN ISRl o HRUN 86 a7 A1 3T 8l
TN A1 ST SHRT RO A TGO TS G0N B & | BAN WEIed o hR0T SR Jiddt 1
AT T8l i T | Hifeh qFHid B A FHgel o hrol fRel Safer i gRien &l i Sl;
FIe Hg B F FRU TR BT TG TE HT I, Afug SHA A A Tk 9 yhR |
SHIfYd B TR T ST €1 SHN YRIGT A1 SIS ST ShROT <l S0 A1 0 B € | g A1 i
B TR o W ST el & Safeh Tl 3R vl H Ueh WehR <Rl TS Al Bl § | 56
stfaftar oTaet sraTet & &1 yenfad 2 € foreg Il ok grfonl & 59 wenfad =€ e € e7ifug
3 1 TR U fafvr fearfd €1 36 R0 S A TRl Bl | iR Wi feRelt e ot am
o HROT B 7531 AT U e el Sl § O 3 HIROT U FRIET A1 =1 -Tal ohi STt | S7R S
FIR T T S AT 1 SIHIEq: Bl 8 foheg oH TTe: 375 A1 G a1 aid | 3T |eer A dl
ST & A &HaTE 8 @ 3 heel W €1 37d: U0 1 SN I8 e 7

46. fass o smenfia € -
(A) TEARGHABH | (B) BARFPGIAH
() = faftm fafy & yo= 31 | (D) e faftm fafy @ Fgam o
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47. A moral judgement is based on :

A) our feelings, virtues and vices

(

(B) our feelings alone

(C) neither on feelings nor on virtues and vices
(

D) virtues and vices alone
48. Virtues and vices are :
(A) dispositions (B) capacities

(C) feelings (D) Dboth feelings and capacities

49. The distinction between feelings and virtues is that :

(A) feelings are being in a certain condition but virtues effects us

(B) feelings effect us, virtues are being in a certain condition

(C) feelings are being in a certain condition and virtues do not effect us
(D) feelings do not effect us but virtues effect us

50. A moral judgement is based on virtues and not on feelings because :

A) feelings are chosen and virtues are not chosen

(
(B) feelings are not chosen and virtues are chosen
(C) both feelings and virtues are chosen

(

D) neither feelings nor virtues are chosen

-00o0-
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47.

48.

49.

50.

ﬁﬁmﬁvhanmﬁa%:

A) TN wEeH, Tl IR g W

B) dhedl BHN wiaIsll W

C) T A& T IR A a1 IO AR O W
D) W HUN SR O W

~—"

(
(
(
(

Waﬁ'(g’jm%
(A) @9 (B) &mwar
(C) (D) e 3R e

W@ﬁ'{ﬂ?{ﬂ'ﬂﬁﬁ%%%
(A) e U fafime feafa § 2 7 foheg o o geifod & )
(B) EAH BH wiferd il €, WiV BN Uk fafvre feurfd 2

(C) e Te faftre feefa # 21 € R wgTor o4 gifed 78 & 2
(D) e & wiferd el Rt 8, foreg W01 o weiferd e € |

e Fofa T W eenfa B, 7 o srammefi W =it

(A)  wrEst T = TR S € e R wen @ 9o w1 foRan S
(B) WIS o1 =g <&l feme ST ST fof SOl a1 =g fohan i 2|
(C)  TEIst TR Sl QI ol =1 TRl ST < |

(D) A q srEered 3R 7 @ 9o 1 = R S 2

-00o0-
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